

PAPER • OPEN ACCESS

Discrete Painlevé system associated with Unitary matrix model

To cite this article: Hiroshi Itoyama *et al* 2019 *J. Phys.: Conf. Ser.* **1194** 012050

View the [article online](#) for updates and enhancements.



IOP | ebooks™

Bringing you innovative digital publishing with leading voices to create your essential collection of books in STEM research.

Start exploring the collection - download the first chapter of every title for free.

Discrete Painlevé system associated with Unitary matrix model

Hiroshi Itoyama^{1,2}, Takeshi Oota^{1,2} and Katsuya Yano¹

¹Department of Mathematics and Physics, Graduate School of Science Osaka City University, 3-3-138, Sugimoto, Sumiyoshi-ku, Osaka, 558-8585, Japan

²Osaka City University Advanced Mathematical Institute (OCAMI), 3-3-138, Sugimoto, Sumiyoshi-ku, Osaka, 558-8585, Japan

E-mail: itoyama@sci.osaka-cu.ac.jp, toota@sci.osaka-cu.ac.jp, yanok@sci.osaka-cu.ac.jp

Abstract. We discuss the emergence of discrete Painlevé system in the context of irregular conformal block which is also a $SU(2)$ $\mathcal{N} = 2$ $N_f = 2$ supersymmetric gauge theory. We develop a framework of orthogonal polynomials in unitary matrix model.

1. Introduction

In this paper, we consider the generic following type of the β -deformed “matrix model” depending on two integration contours C_L and C_R :

$$Z(N_L, N_R) = \mathcal{C} \left(\prod_{i=1}^{N_L} \int_{C_L} dw_i \right) \left(\prod_{j=1}^{N_R} \int_{C_R} dw_{N_L+j} \right) \Delta^{2\beta}(w) \exp \left(\sqrt{\beta} \sum_{I=1}^{N_L+N_R} W(w_I) \right), \quad (1.1)$$

where \mathcal{C} is a normalization constant and $\Delta(w)$ is the Vandermonde determinant:

$$\Delta(w) = \prod_{1 \leq I < J \leq N_L+N_R} (w_I - w_J). \quad (1.2)$$

Following [1], we introduce their generating function

$$\begin{aligned} \underline{Z}(N; \mu_L, \mu_R) &= \sum_{N_L+N_R=N} \frac{\mu_L^{N_L}}{N_L!} \frac{\mu_R^{N_R}}{N_R!} Z(N_L, N_R) \\ &= \frac{\mathcal{C}}{N!} \int_C d^N w \Delta^{2\beta}(w) \exp \left(\sqrt{\beta} \sum_{I=1}^N W(w_I) \right), \end{aligned} \quad (1.3)$$

where $C = \mu_L C_L + \mu_R C_R$, i.e.,

$$\int_C = \mu_L \int_{C_L} + \mu_R \int_{C_R}. \quad (1.4)$$

As we recall from [2] (see, [3, 4, 5, 6, 7, 8] for earlier references), in the case of $\beta = 1$ which we consider in the body of this paper, the $N_f = 2$ matrix model of the above form with $\alpha_{1+2} \in \mathbb{Z}$ in fact reduces to the unitary matrix model with cosine + log potential in section 3.



2. Unitary matrix model

In this section, we briefly review the unitary matrix model, the method of orthogonal polynomials and the string equations to explain our notation.

The partition function of the unitary matrix model is defined by

$$Z_{U(N)} := \frac{1}{\text{vol}(U(N))} \int [dU] \exp\left(\text{Tr} W_U(U)\right), \quad (2.1)$$

where U is an $N \times N$ unitary matrix and $W_U(U)$ is a potential. We define a unitary Haar measure $[dU]$ from the metric

$$ds^2 = \text{Tr}(dU^\dagger dU) = -\text{Tr}(U^{-1}dU)^2. \quad (2.2)$$

With this normalization of the measure, the volume of the unitary group $U(N)$ is given by

$$\text{vol}(U(N)) = \int [dU] = \frac{(2\pi)^{(1/2)N(N+1)}}{G_2(N+1)}, \quad (2.3)$$

where $G_2(z)$ is the Barnes function. Explicitly, $G_2(N+1)$ is given by

$$G_2(N+1) = \prod_{j=1}^{N-1} j! = \prod_{k=1}^{N-1} k^{N-k}. \quad (2.4)$$

If we diagonalize the unitary matrix U as

$$U = V^{-1}U_D V, \quad U_D = \text{diag}(z_1, z_2, \dots, z_N), \quad |z_i| = 1, \quad (2.5)$$

we have

$$Z_{U(N)} = \frac{1}{N!} \left(\prod_{i=1}^N \oint \frac{dz_i}{2\pi i z_i} \right) \Delta(z) \Delta(z^{-1}) \exp\left(\sum_{i=1}^N W_U(z_i)\right), \quad (2.6)$$

where

$$\Delta(z) = \prod_{1 \leq i < j \leq N} (z_i - z_j). \quad (2.7)$$

Let

$$d\mu(z) := \frac{dz}{2\pi i z} \exp\left(W_U(z)\right). \quad (2.8)$$

Then

$$Z_{U(N)} = \frac{1}{N!} \int \prod_{i=1}^N d\mu(z_i) \Delta(z) \Delta(z^{-1}). \quad (2.9)$$

The partition function (2.6) expressed in eigenvalue integrals may be generalized to the form of the two contour model (1.1). A natural choice of the two contours C_L and C_R is take them as circles of radius r_L and r_R respectively. Suppose, $r_L < r_R$ and there is no singularity in the region $r_L \leq |w| \leq r_R$. Then the contours can be smoothly deformed to circles of the same radius, i.e., to the same contour: $C_L = C_R$. Then, for the two contour unitary matrix model, $Z_{U(N)}(N_L, N_R)$ depends only on $N = N_L + N_R$, and the generating function $\underline{Z}_{U(N)}$ is essentially $Z_{U(N)}(N, 0)$. Because $\underline{Z}_{U(N)} = (\mu_L + \mu_R)^N Z_{U(N)}$, we can set $\mu_L + \mu_R = 1$ without loss of generality. Hence $\underline{Z}_{U(N)} = Z_{U(N)}$.

2.1. Orthogonal polynomials

The unitary matrix model can be solved [9, 10, 11] by the method of orthogonal polynomials [12, 13]. Let us use the monic orthogonal polynomials [9, 10] (In [11], orthogonal polynomials of different type have been introduced to solve the unitary matrix model).

Let p_n and \tilde{p}_n ($n \geq 0$) be monic polynomials satisfying orthogonality conditions with respect to the measure (2.8)

$$\int d\mu(z) p_n(z) \tilde{p}_m(1/z) = h_n \delta_{n,m}, \quad (2.10)$$

where

$$p_n(z) = z^n + \sum_{k=0}^{n-1} A_k^{(n)} z^k, \quad \tilde{p}_n(1/z) = z^{-n} + \sum_{k=0}^{n-1} B_k^{(n)} z^{-k}. \quad (2.11)$$

Let us introduce the moments μ_n for the measure (2.8) by

$$\mu_n := \int d\mu(z) z^n, \quad (n \in \mathbb{Z}). \quad (2.12)$$

For later convenience, we define $\mathcal{K}_k^{(n)}$ by

$$\mathcal{K}_k^{(n)} := \det(\mu_{j-i+k})_{1 \leq i,j \leq n}, \quad (n \geq 0, k \in \mathbb{Z}). \quad (2.13)$$

From the definition, the orthogonal polynomials have the following properties:

$$\int d\mu(z) p_n(z) z^{-k} = 0, \quad \int d\mu(z) z^k \tilde{p}_n(1/z) = 0, \quad (k = 0, 1, \dots, n-1), \quad (2.14)$$

Using these and the monic properties, the orthogonal polynomials are determined as

$$p_n(z) = \frac{1}{\tau_n} \begin{vmatrix} \mu_0 & \mu_1 & \mu_2 & \cdots & \mu_n \\ \mu_{-1} & \mu_0 & \mu_1 & \cdots & \mu_{n-1} \\ \vdots & \vdots & \vdots & \ddots & \vdots \\ \mu_{-n+1} & \mu_{-n+2} & \mu_{-n+3} & \cdots & \mu_1 \\ 1 & z & z^2 & \cdots & z^n \end{vmatrix}, \quad (2.15)$$

$$\tilde{p}_n(1/z) = \frac{1}{\tau_n} \begin{vmatrix} \mu_0 & \mu_{-1} & \mu_{-2} & \cdots & \mu_{-n} \\ \mu_1 & \mu_0 & \mu_{-1} & \cdots & \mu_{-n+1} \\ \vdots & \vdots & \vdots & \ddots & \vdots \\ \mu_{n-1} & \mu_{n-2} & \mu_{n-3} & \cdots & \mu_{-1} \\ 1 & z^{-1} & z^{-2} & \cdots & z^{-n} \end{vmatrix}, \quad (2.16)$$

where

$$\tau_n := \mathcal{K}_0^{(n)} = \det(\mu_{j-i})_{1 \leq i,j \leq n}. \quad (2.17)$$

(We set $\tau_0 = 1$). We can easily see that these polynomials obey (2.14).

The normalization constants h_n defined by (2.10) are given by

$$h_n = \frac{\tau_{n+1}}{\tau_n} = \frac{\mathcal{K}_0^{(n+1)}}{\mathcal{K}_0^{(n)}}. \quad (2.18)$$

The constant terms of these polynomials will play important roles.

$$A_n := p_n(0) = A_0^{(n)} = (-1)^n \frac{\mathcal{K}_1^{(n)}}{\mathcal{K}_0^{(n)}}, \quad B_n := \tilde{p}_n(0) = B_0^{(n)} = (-1)^n \frac{\mathcal{K}_{-1}^{(n)}}{\mathcal{K}_0^{(n)}}. \quad (2.19)$$

Note that

$$\frac{h_n}{h_{n-1}} = \frac{\tau_{n+1}\tau_{n-1}}{\tau_n^2}, \quad 1 - \frac{h_n}{h_{n-1}} = \frac{\tau_n^2 - \tau_{n+1}\tau_{n-1}}{\tau_n^2}. \quad (2.20)$$

Using an identity

$$\tau_n^2 - \tau_{n+1}\tau_{n-1} = (\mathcal{K}_0^{(n)})^2 - \mathcal{K}_0^{(n+1)}\mathcal{K}_0^{(n-1)} = \mathcal{K}_1^{(n)}\mathcal{K}_{-1}^{(n)}, \quad (2.21)$$

we can show that

$$1 - \frac{h_n}{h_{n-1}} = \frac{\mathcal{K}_1^{(n)}\mathcal{K}_{-1}^{(n)}}{(\mathcal{K}_0^{(n)})^2} = A_n B_n. \quad (2.22)$$

Thus we have the following relations:

$$\frac{h_n}{h_{n-1}} = 1 - A_n B_n. \quad (2.23)$$

Note that

$$\Delta(z) = \det(p_{j-1}(z_i))_{1 \leq i, j \leq N} = \sum_{\sigma \in S_N} (-1)^{\varepsilon(\sigma)} \prod_{k=1}^N p_{\sigma(k)-1}(z_k), \quad (2.24)$$

$$\Delta(z^{-1}) = \det(\tilde{p}_{j-1}(1/z_i))_{1 \leq i, j \leq N} = \sum_{\sigma \in S_N} (-1)^{\varepsilon(\sigma)} \prod_{k=1}^N \tilde{p}_{\sigma(k)-1}(1/z_k), \quad (2.25)$$

Using these relations, the partition function (2.6) is evaluated as

$$\underline{Z}_{U(N)} = \frac{1}{N!} \int \prod_{i=1}^N d\mu(z_i) \Delta(z) \Delta(z^{-1}) = \prod_{k=0}^{N-1} h_k = \prod_{k=0}^{N-1} \frac{\tau_{k+1}}{\tau_k} = \tau_N. \quad (2.26)$$

Also, it can be written as

$$\underline{Z}_{U(N)} = h_0^N \prod_{j=1}^{N-1} (1 - A_j B_j)^{N-j}. \quad (2.27)$$

The orthogonal polynomials $p_n(z)$ obey the following relations:

$$z p_n(z) = p_{n+1}(z) + \sum_{k=0}^n C_k^{(n)} p_k(z), \quad (2.28)$$

where

$$C_k^{(n)} = (-1)^{n-k} \frac{\mathcal{K}_1^{(n+1)} \mathcal{K}_{-1}^{(k)}}{\mathcal{K}_0^{(n)} \mathcal{K}_0^{(k+1)}} = -\frac{h_n}{h_k} A_{n+1} B_k, \quad (0 \leq k \leq n). \quad (2.29)$$

If we use p_k only, all lower degree polynomials appear in the expansion of $z p_n(z)$. Similarly, \tilde{p}_n behave as follows:

$$z^{-1} \tilde{p}_n(1/z) = \tilde{p}_{n+1}(1/z) + \sum_{k=0}^n \tilde{C}_k^{(n)} \tilde{p}_k(1/z), \quad (2.30)$$

where

$$\tilde{C}_k^{(n)} = (-1)^{n-k} \frac{\mathcal{K}_1^{(k)} \mathcal{K}_{-1}^{(n+1)}}{\mathcal{K}_0^{(k+1)} \mathcal{K}_0^{(n)}} = -\frac{h_n}{h_k} A_k B_{n+1}, \quad (0 \leq k \leq n). \quad (2.31)$$

The above recursion relations (2.28) and (2.30) can be rewritten as three-term relations:

$$p_{n+1}(z) = z p_n(z) + A_{n+1} z^n \tilde{p}_n(1/z), \quad (2.32)$$

$$\tilde{p}_{n+1}(1/z) = z^{-1} \tilde{p}_n(1/z) + B_{n+1} z^{-n} p_n(z). \quad (2.33)$$

2.2. String equations

Recall that

$$d\mu(z) = \frac{dz}{2\pi i z} \exp(W_U(z)). \quad (2.34)$$

Using the following constraints for $k \in \mathbb{Z}$ and $\ell, m \geq 0$,

$$\begin{aligned} 0 &= \int dz \frac{\partial}{\partial z} \left[\frac{z^k}{2\pi i} \exp(W_U(z)) p_\ell(z) \tilde{p}_m(1/z) \right] \\ &= \int d\mu(z) z^{k+1} W'_U(z) p_\ell(z) \tilde{p}_m(1/z) + \int d\mu(z) z \frac{\partial}{\partial z} (p_\ell(z) z^k \tilde{p}_m(1/z)), \end{aligned} \quad (2.35)$$

we can obtain various polynomial equations for A_n and B_n .

In particular, let us consider the following three cases of (2.35): (i) $(k, \ell, m) = (-1, n, n-1)$, (ii) $(k, \ell, m) = (0, n, n)$ and (iii) $(k, \ell, m) = (1, n-1, n)$. They lead to the “string equations”

$$\int d\mu(z) W'_U(z) p_n(z) \tilde{p}_{n-1}(1/z) = n(h_n - h_{n-1}), \quad (2.36)$$

$$\int d\mu(z) z W'_U(z) p_n(z) \tilde{p}_n(1/z) = 0, \quad (2.37)$$

$$\int d\mu(z) z^2 W'_U(z) p_{n-1}(z) \tilde{p}_n(1/z) = -n(h_n - h_{n-1}). \quad (2.38)$$

3. Unitary matrix model with logarithmic potential

Let us consider the unitary matrix model with the following potential

$$W_U(z) = -\frac{1}{2\underline{g}_s} \left(z + \frac{1}{z} \right) + M \log z. \quad (3.1)$$

In the gauge theory parameters, $\underline{g}_s = g_s/\Lambda_2$ and $M = \alpha_{1+2} + N = (m_2 - m_1)/g_s$. We assume that M is an integer. Note that $1/(2\underline{g}_s) = \Lambda_2/(2g_s) = q_{02}$.

3.1. Moments and related quantities

The moments for this potential are given by

$$\begin{aligned} \mu_n &= \oint \frac{dz}{2\pi i z} \exp \left(-\frac{1}{2\underline{g}_s} \left(z + \frac{1}{z} \right) \right) z^{M+n} \\ &= \left(-\frac{1}{2\underline{g}_s} \right)^{|M+n|} \sum_{k=0}^{\infty} \frac{1}{k! (k + |M+n|)!} \left(\frac{1}{2\underline{g}_s} \right)^{2k} = (-1)^{M+n} I_{|M+n|}(1/\underline{g}_s), \end{aligned} \quad (3.2)$$

where $I_\nu(z)$ is the modified Bessel function of the first kind:

$$I_\nu(z) = \left(\frac{z}{2}\right)^\nu \sum_{k=0}^{\infty} \frac{1}{k! \Gamma(\nu + k + 1)} \left(\frac{z}{2}\right)^{2k}. \quad (3.3)$$

Note that

$$\begin{aligned} \mathcal{K}_k^{(n)} &= \det(\mu_{j-i+k})_{1 \leq i, j \leq n} \\ &= \det\left((-1)^{M+j-i+k} I_{|M+j-i+k|}(1/\underline{g}_s)\right)_{1 \leq i, j \leq n} \\ &= (-1)^{n(M+k)} K_{M+k}^{(n)}, \end{aligned} \quad (3.4)$$

where

$$K_\nu^{(n)} := \det\left(I_{j-i+\nu}(1/\underline{g}_s)\right)_{1 \leq i, j \leq n}, \quad (\nu \in \mathbb{C}; n = 0, 1, 2, \dots). \quad (3.5)$$

For an integer k , it holds that $I_{-k}(z) = I_k(z)$. Therefore, for $j - i + M + k \in \mathbb{Z}$, we have $I_{j-i+M+k}(1/\underline{g}_s) = I_{|j-i+M+k|}(1/\underline{g}_s)$. Also, we have $K_{-k}^{(n)} = K_k^{(n)}$ ($k \in \mathbb{Z}$). For later convenience, we have defined $K_\nu^{(n)}$ (3.5) as a determinant of $I_{j-i+\nu}(1/\underline{g}_s)$ such that the index M in $K_{M+k}^{(n)}$ can be analytically continued from an integer to any complex number.

Note that

$$\tau_n = \mathcal{K}_0^{(n)} = (-1)^{nM} K_M^{(n)}. \quad (3.6)$$

The normalization constants of the orthogonal polynomials are given by

$$h_n = \frac{\mathcal{K}_0^{(n+1)}}{\mathcal{K}_0^{(n)}} = (-1)^M \frac{K_M^{(n+1)}}{K_M^{(n)}}. \quad (3.7)$$

In particular, $h_0 = (-1)^M I_M(1/\underline{g}_s)$.

The constant term of the orthogonal polynomials are written in terms of $K_k^{(n)}$ as follows:

$$A_n = p_n(0) = (-1)^n \frac{\mathcal{K}_1^{(n)}}{\mathcal{K}_0^{(n)}} = \frac{K_{M+1}^{(n)}}{K_M^{(n)}}, \quad (3.8)$$

$$B_n = \tilde{p}_n(0) = (-1)^n \frac{\mathcal{K}_{-1}^{(n)}}{\mathcal{K}_0^{(n)}} = \frac{K_{M-1}^{(n)}}{K_M^{(n)}}. \quad (3.9)$$

The partition function (2.27) can be written in terms of these objects:

$$\underline{Z}_{U(N)} = (-1)^{MN} K_M^{(N)} = \prod_{k=0}^{N-1} h_k = h_0^N \prod_{j=1}^{N-1} (1 - A_j B_j)^{N-j}. \quad (3.10)$$

This partition function is essentially the tau function of the Painlevé III equation.

3.2. String equations

Let us write the string equations (2.36), (2.37) and (2.38) explicitly for the case of the potential (3.1). Since

$$W'_U(z) = -\frac{1}{2\underline{g}_s} \left(1 - \frac{1}{z^2}\right) + \frac{M}{z}, \quad (3.11)$$

we have

$$\int d\mu(z) W'_U(z) p_n(z) \tilde{p}_{n-1}(1/z) = \frac{1}{2\underline{g}_s} (\tilde{C}_n^{(n)} + \tilde{C}_{n-1}^{(n-1)}) h_n + M h_n, \quad (3.12)$$

$$\int d\mu(z) z W'_U(z) p_n(z) \tilde{p}_n(1/z) = -\frac{1}{2\underline{g}_s} (C_n^{(n)} - \tilde{C}_n^{(n)}) h_n + M h_n, \quad (3.13)$$

$$\int d\mu(z) z^2 W'_U(z) p_{n-1}(z) \tilde{p}_n(1/z) = -\frac{1}{2\underline{g}_s} (C_n^{(n)} + C_{n-1}^{(n-1)}) h_n + M h_n. \quad (3.14)$$

Here we have used (2.28) and (2.30).

Then the string equations (2.36), (2.37), (2.38) for this potential become

$$\begin{aligned} \frac{1}{2\underline{g}_s} (\tilde{C}_n^{(n)} + \tilde{C}_{n-1}^{(n-1)}) + M &= n \left(1 - \frac{h_{n-1}}{h_n} \right), \\ -\frac{1}{2\underline{g}_s} (C_n^{(n)} - \tilde{C}_n^{(n)}) + M &= 0, \\ -\frac{1}{2\underline{g}_s} (C_n^{(n)} + C_{n-1}^{(n-1)}) + M &= -n \left(1 - \frac{h_{n-1}}{h_n} \right), \end{aligned} \quad (3.15)$$

Using

$$\frac{h_n}{h_{n-1}} = 1 - A_n B_n, \quad C_n^{(n)} = -A_{n+1} B_n, \quad \tilde{C}_n^{(n)} = -A_n B_{n+1}, \quad (3.16)$$

the string equations lead to the following recursion relations for A_n and B_n :

$$A_{n+1} = -A_{n-1} + \frac{2n\underline{g}_s A_n}{1 - A_n B_n}, \quad B_{n+1} = -B_{n-1} + \frac{2n\underline{g}_s B_n}{1 - A_n B_n}, \quad (3.17)$$

$$A_n B_{n+1} - A_{n+1} B_n = 2M\underline{g}_s. \quad (3.18)$$

With the initial conditions $A_0 = B_0 = 1$, and

$$A_1 = \frac{I_{M+1}(1/\underline{g}_s)}{I_M(1/\underline{g}_s)}, \quad B_1 = \frac{I_{M-1}(1/\underline{g}_s)}{I_M(1/\underline{g}_s)}, \quad (3.19)$$

the remaining constants A_n and B_n are characterized by the recursion relations (3.17), (3.18). We remark that one of recursion relations (3.17) can be obtained by combining the other of (3.17) with (3.18).

Recall that the modified Bessel function satisfies the following recursion relation:

$$I_{\nu-1}(z) - I_{\nu+1}(z) = (2\nu/z) I_\nu(z). \quad (3.20)$$

By examining (3.18) for $n = 0$, we can see that the range of the parameter M in the initial conditions (3.19) can be extended from the integers to any complex numbers. Furthermore,

$$A_n(M) = \frac{K_{M+1}^{(n)}}{K_M^{(n)}}, \quad B_n(M) = \frac{K_{M-1}^{(n)}}{K_M^{(n)}}, \quad (M \in \mathbb{C}) \quad (3.21)$$

indeed solve the string equations (3.17) and (3.18). Here $K_\nu^{(n)}$ is defined by (3.5).

Note that the partition function (3.10) depends on A_j and B_j only through their product $A_j B_j$. Let $A_n = R_n D_n$ and $B_n = R_n / D_n$. Then the partition function (3.10) becomes

$$\underline{Z}_{U(N)} = h_0^N \prod_{j=1}^{N-1} (1 - R_j^2)^{N-j}. \quad (3.22)$$

The equation (3.18) turns into

$$R_n R_{n+1} \left(\frac{D_n}{D_{n+1}} - \frac{D_{n+1}}{D_n} \right) = 2 M \underline{g}_s. \quad (3.23)$$

This leads to

$$\frac{D_n}{D_{n+1}} = \frac{M \underline{g}_s + \sqrt{R_n^2 R_{n+1}^2 + M^2 \underline{g}_s^2}}{R_n R_{n+1}}, \quad (3.24)$$

$$\frac{D_{n+1}}{D_n} = \frac{-M \underline{g}_s + \sqrt{R_n^2 R_{n+1}^2 + M^2 \underline{g}_s^2}}{R_n R_{n+1}}. \quad (3.25)$$

By substituting these relations into the remaining relations (3.17), we find

$$(1 - R_n^2) \left(\sqrt{R_n^2 R_{n+1}^2 + M^2 \underline{g}_s^2} + \sqrt{R_n^2 R_{n-1}^2 + M^2 \underline{g}_s^2} \right) = 2 n \underline{g}_s R_n^2. \quad (3.26)$$

This is equivalent to

$$\begin{aligned} 0 = & \eta_n^2 \left[\xi_n^2 (1 - \xi_n)^2 - \eta_n^2 \xi_n^2 + \zeta^2 (1 - \xi_n)^2 \right] \\ & + \frac{1}{2} \eta_n^2 \xi_n (1 - \xi_n)^2 (\xi_{n+1} - 2 \xi_n + \xi_{n-1}) - \frac{1}{16} (1 - \xi_n)^4 (\xi_{n+1} - \xi_{n-1})^2, \end{aligned} \quad (3.27)$$

where $\xi_n \equiv R_n^2$, $\eta_n \equiv n \underline{g}_s$, $\zeta \equiv M \underline{g}_s$.

When $M = 0$ (i.e., with no logarithmic potential), (3.26) reduces to the string equation considered in [9]

$$(1 - R_n^2) R_n (R_{n+1} + R_{n-1}) = 2 n \underline{g}_s R_n^2. \quad (3.28)$$

Let us introduce variables x_n and y_n by

$$x_n := \frac{A_{n+1}}{A_n}, \quad y_n := \frac{B_{n+1}}{B_n}, \quad (n = 0, 1, 2, \dots). \quad (3.29)$$

They respectively obey the alternate discrete Painlevé II equation [14, 15] with different values of the parameter $\tilde{\mu}$. With the initial conditions $A_0 = 1$ and $B_0 = 1$, A_n and B_n can be expressed by these variables:

$$A_n = \prod_{k=0}^{n-1} x_k, \quad B_n = \prod_{k=0}^{n-1} y_k. \quad (3.30)$$

References

- [1] Mironov A and Morozov A 2017 *Phys. Lett. B* **773** 34-46 (*Preprint* arXiv:1707.02443 [hep-th])
- [2] Itoyama H, Oota T and Yano K 2018 *Preprint* arXiv:1805.05057 [hep-th]
- [3] Itoyama H and Oota T 2010 *Nucl. Phys. B* **838**, 298-330 (*Preprint* arXiv:1003.2929 [hep-th])
- [4] Itoyama H, Oota T and Yonezawa N 2010 *Phys. Rev. D* **82**, 085031 (*Preprint* arXiv:1008.1861 [hep-th])
- [5] Itoyama H, Maruyoshi K and Oota T 2010 *Prog. Theor. Phys.* **123**, 957-87 (*Preprint* arXiv:0911.4244 [hep-th])

- [6] Itoyama H and Yonezawa N 2011 *Int. J. Mod. Phys. A* **26**, 3439-67 (*Preprint* arXiv:1104.2738 [hep-th])
- [7] Itoyama H and Yoshioka R 2015 *PTEP* **2015**, no. 11, 11B103 (*Preprint* arXiv:1507.00260 [hep-th])
- [8] Itoyama H and Matsuo Y 1991 *Phys. Lett. B* **255**, 202-8
- [9] Periwal V and Shevitz D 1990 *Phys. Rev. Lett.* **64** 1326-29
- [10] Periwal V and Shevitz D 1990 *Nucl. Phys.* **B344** 731-46
- [11] Myers R C and Periwal V 1990 *Phys. Rev. Lett.* **65** 1088-91
- [12] Bessis D 1979 *Commun. Math. Phys.* **69** 147-63
- [13] Itzykson C and Zuber J B 1980 *J. Math. Phys.* **21** 411-21
- [14] Fokas A S, Grammaticos B and Ramani A 1993 *J. Math. Anal. Appl.* **180** 342-60
- [15] Nijhoff F, Satsuma J, Kajiwara K, Grammaticos B and Ramani A 1996 *Inverse Problems* **12** 697-716